Flun G0ES quaretwiss. Accl Asyr: Beasn ON, Lasar OFF Flun G0ES quanetwise, ISba1 Asym: Baam ON, Lasar DFF
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Flun G06S quanetwise, ISba2 Acym: Baam ON, Lasear OFF Flun G0ES quanetwise, DSba1 Asym: Baam O, Lasar DFF
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Flun GOEG cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF
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T R e i T Py PR e O ——— Acc0 Asym (ppt): 8.09 +/- 112.87

i USbg1 Asym (ppt): 2.39 +/- 3.84
USbg2 Asym (ppt): 2.68 +/- 2.57
DSbg1 Asym (ppt): -0.09 +/- 0.52

ﬂlqrﬂrrL Fﬂlﬁﬂ DSbg2 Asym (ppt): 0.59 +/- 0.48
SV o DO | U [ PO Top Finger Asym (ppt): 0.65 +/- 1.80

P Side Finger Asym (ppt): 0.96 +/- 1.75



Run 60ES, quartatwise: USbg2 vs tima

Run 6062, quartetwize: LUSbg1 vs time
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Run 6063, guartetwise: DSbg2 vs time

Run 6068, quartetwise: DSbg1 vs time
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Run 6062, quartetwise: horizFing vs fima

Run 6062, quartetwise: vertFing vs time
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